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A 0J00O0dOoog

(Dobobooooog)

import java.awt.*;
import java.applet.*;
import java.awt.event.x*;

public class jt extends Applet
implements ActionListener{

Button clear,keisan; //00000
TextField kakudo;

Font font;

Point pl = new Point(200,200);

double PI = 3.141592654;

double c¢ = 300000.0;

double b,bl,x,y,z,w,n,nl,s,s1,R,R1,V1;
double V = 0;

int i = 0;

int h;

int R2;

public void init({

font = new Font("Serif", Font.BOLD,18);

clear = new Button("CLEAR"); 0 //000000000O0O00O00OOOO
add(clear);
clear.addActionListener(this);

kakudo = new TextField("",3);
add (kakudo) ;

keisan = new Button("OO");
add (keisan) ;
keisan.addActionListener (this);

public void actionPerformed(ActionEvent e){
int kk = Integer.parselnt(kakudo.getText());

if (e.getSource() == keisan){
if(kk > 90 && kk < 270){00// OO0ODOO0OOODOODOOOOOO9%°0O270°00

Oooon
if(i == 0){
R = kk;
if(R >90 && R < 180){
R = 180 - R;
}else
if(R > 180 && R < 270){
R = 180 - R;

} )
pl.setLocation(200,200-(2*R));

Vv 0;
b = (((double)R)/180) * PI;

bl = (((double)R1)/180)* PI;
1++;

}else
if(i < 10){
V=V+ 10;

Vi = (double) (V/100) * c;

x = (V1 % V1);

y = (c *x c);
z=x/Yy;

w = Math.sqrt(1-z);

20



n = wkx(Math.sin(b))/((Math.cos(b))+(Vi/c));
nl = wx(Math.sin(b1))/((Math.cos(b1))+(V1/c));

s = Math.atan(n);
sl = Math.atan(nl);
R = (180%s)/PI;

R1 = (180%*s1)/PI;

pl.setLocation(200,200-(2*R));
it+:

3

if (i == 10){

V = 99.9;

V1 = (double) (V/100) * c;
(V1 * V1);

(c *x c);

x/y;
Math.sqrt(1-z);

wx(Math.sin(b))/((Math.cos(b))+(V1/c));
1 = wx(Math.sin(b1))/((Math.cos(b1l))+(V1/c));

= Math.atan(n);

1 = Math.atan(nl);
= (180%s)/PI;

R1 = (180%*s1)/PI;

pl.setLocation(200,200-(2*R));
i4+;

b

JTnun BB =5 N<X
]

}else
if(i == 11){
V = 99.99;

Vi = (double) (V/100) * c:

x = (V1 * V1);

y = (c * ¢);
z=x/Yy;

w = Math.sqrt(1-z);

n = wkx(Math.sin(b))/((Math.cos(b))+(V1i/c));
nl = wx(Math.sin(b1))/((Math.cos(b1))+(V1i/c));

s = Math.atan(n);
s1 = Math.atan(nl);
R = (180%s)/PI;

R1 = (180*s1)/PI;

pl.setLocation(200,200-R) ;

}
relse{OUOOO//000000000 (0°c0d90°0 270°0360°)000O0O
iﬁ(i EZ 0){

270 && R < 360){

(R
= 360;

if >
R R
}

pl.setLocation(200,200-(2*R));

b = (((double)R)/180) * PI;
bl = (((double)R1)/180)* PI;

. )
1++;

3

}else
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if(i < 10){

V=V+ 10;

V1 = (double) (V/100) * c;
(V1 * V1);
(c * c);
x/y;
Math.sqrt(1-z);

X
y

z

W

n = wx(Math.sin(b))/((Math.cos(b))+(V1/c));

nl = wx(Math.sin(b1))/((Math.cos(b1))+(V1/c));
s

S

R

R

= Math.atan(n);

1 = Math.atan(nl);
= (180%s)/PI;

1 = (180*s1)/PI;

pl.setLocation(200,200-(2%R)) ;
i++;

}else

if(i == 10){

V = 99.9;

V1 = (double) (V/100) * c;
(V1 * V1);
(c * c);
x/y;
Math.sqrt(1-z);

wx(Math.sin(b))/((Math.cos(b))+(V1/c));
1 = wx(Math.sin(b1))/((Math.cos(b1))+(V1/c));

= Math.atan(n);

1 = Math.atan(nl);
= (180%*s)/PI;

= (180%s1)/PI;

pl.setLocation(200,200-(2%R));
i++;

I

BB = N< M

n w0

p=e =S
'_\

}else
if(i == 11){
V = 99.99;

= (double) (V/100) * c;
(V1 x V1);
(c *x c);
x/y;
Math.sqrt(1-z);

= wx(Math.sin(b))/((Math.cos(b))+(V1/c));
1 = wx(Math.sin(b1))/((Math.cos(b1))+(V1/c));

= Math.atan(n);

1 = Math.atan(nl);
= (180%*s)/PI;

R1 = (180%*s1)/PI;

pl.setLocation(200,200-(2*R)) ;
}

}
+

if (e.getSource() == clear){0//clear 00O 0OODOOOOOOO
R = kk;
R1 = 90;
if (R >90 && R <= 180){
R = 180 - R;

3

<
[y

Tnn BB = N< X
|
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}

}else
if(R > 180 &&

R = 180 - R;

}else

if(R > 270 &&
= R - 360;

b

>

Vv 0;
i 0;
p

repaint () ;

R <= 270){

R <= 360){

1.setLocation (200,200~ (2*R)) ;

public void paint(Graphics g){0//0000

= (int)R1;

.fillOval(pl.x -
.setFont (font) ;

H0Q 0B 0] 0B OB 0] OB OB 0Q O’ =09

= Rx100;

R2 = (int)R;

R =(double)R2/100;
g.drawString("0 ~
g.drawString("30 °
g.drawString("60 °
g.drawString("90 °

.setColor(Color.white); //0000000000000

.£i110val (200-(2%*h) ,200-(2%*h), (4xh) , (4*xh)) ;

.setColor(Color.black); O //00000O0
.drawLine (200,0,200,400) ;
.drawLine(0,200,400,200);

.drawOval (20,20,360,360) ;
.draw0Oval(80,80,240,240) ;
.drawOval(140,140,120,120);

5, pl.y - 5,10,10); 0//00000000

.drawString("v ="+V+"%",10,360); 000 //000000

="+R+"° " 10,380); 0 /000000000 O0O0OO0O
",250,220);
",310,230);
",370,240);

23



(Dooog

import j
import j
import j

public c

Button
Font fo
double
double
double
double
double
double
double
double
double
int i
int R
int G
int B
int R2;

int ail
int bl
double
double
double

double

double
double

Point

int a2
int b2
double
double

double
double

double
double

Point

int a3 =
int b3
double
double

double
double

double
double

Point

int a4
int b4
double
double
double

double

Oooooono@aoooog))

ava.awt. *;
ava.applet.*;
ava.awt.event. *x;

lass orion2 extends Applet
implements ActionListener{

clear,keisan; //00000
nt;

b,bbl,d,j,f,R1,V1;

g,g1,g2,¢3,g4,85,86,87;

h,h1,h2,h3,h4,h5,h6,h7;

s,sl,s2,s3,s4,s5,86,87;
x2,x4,x6,x8,x10,x12,x14;

y2, y4 y6,y8,y10,y12,y14;

PI 3.141592654;

s = SOOOOO 0;

0;

0;

255;

255;

0;

=280; 00obooobooboo//0boooobo x,yob (ObOH)OoDO
= 170;

x1 = al- 200;

vl = 200-b1:

zl = Math.sqrt((xl*x1)+(y1*y1)); 0//00000000000000000
ol = z1/2;000000000DOO0O0O0OO MBHYODOOO
n = (o1x¥PI)/180; 000 0OD0OOOO//6 00000000
q = Math.atan(yl/x1); 000000//000c 0000
pl = new Point(al,bl); 000 0O0//0000

= 240;

= 130;

x3 = a2- 200;

y3 = 200-b2:

z2 = Math.sqrt((xS*x3)+(y3*y3));

02 = z2/2;

nl = (02xPI)/180;

ql = Math.atan(y3/x3);
p2 = new Point(a2,b2);

303;

= 137;

x5 = a3- 200;

y5 = 200-b3’

z3 = Math.sqrt((x5*x5)+(y5*y5));

03 = z3/2;

n2 = (03%PI)/180;

q2 = Math.atan(y5/x5);

p3 = new Point(a3,b3);

= 280;

= 110;

x7 = a4-200;

y7 = 200-b4;

z4 = Math.sqrt ((x7*x7)+(y7*y7));

0d = z4/2;
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double n3 = (04*PI)/180;

double g3 = Math.atan(y7/x7);

Point p4 = new Point(a4,b4d);

int ab = 295;

int b5 = 70;

double x9 = ab5-200;

double y9 = 200-b5;

double z5 = Math.sqrt ((x9*x9)+(y9*y9));
double o5 = z5/2;

double n4 = (05%PI)/180;

double g4 = Math.atan(y9/x9);

Point p5 = new Point(a5,b5);

int a6 = 345;

int b6 = 120;

double x11 = a6-200;

double y11 = 200-b6;

double z6 = Math.sqrt((x11*x11)+(yllx*y11));
double 06 = z6/2;

double nb (06%PI)/180;

double g5 = Math.atan(y11/x11);
Point p6 = new Point(a6,b6) ;
int a7 = 293;

int b7 = 123;

double x13 = a7-200;
double y13 = 200-b7;

double z7 = Math.sqrt((x13*x13)+(y13%*y13));
double o7 = z7/2;

double n6 = (o7*PI)/180;

double g6 = Math.atan(y13/x13);

Point p7 = new Point(a7,b7);

public void init(){
font = new Font("Serif", Font.BOLD,18);

clear = new Button("CLEAR"); 00000 //0000000000O000O00OOO
add(clear);
clear.addActionListener(this);

keisan = new Button("OO");
add (keisan) ;
keisan.addActionListener (this);

}

public void actionPerformed(ActionEvent e){
if (e.getSource() == keisan){
if(i == 0){
000 R1 = 90;
bbl = (((double)R1)/180)* PI;
pl.setlocation(al,bl); 0000000 //0D0000
p2.setLocation(a2,b2);
p3.setLocation(a3,b3);
p4.setlocation(ad,bd);
p5.setLocation(ab,bb);
p6.setLocation(a6,bb) ;
p7.setLocation(a7,b7);
}else
if(i >0 & i< 10){0000O/000000vOoO90x00OOMOMO
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V=V+ 10;
V1 = (double) (V/100) * c;

b= (V1 x V1);

d = (c *x c);
j=b/ d;

f = Math.sqrt(1-j);

g = f*(Math.sin(n))/((Math.cos(n))+(V1/c));
gl = f*x(Math.sin(n1))/((Math.cos(nl))+(Vi/c));
g2 = f*x(Math.sin(n2))/((Math.cos(n2))+(Vi/c));
g3 = f*x(Math.sin(n3))/((Math.cos(n3))+(V1i/c));
g4 = fx(Math.sin(n4))/((Math.cos(n4))+(Vi/c));
gh = f*x(Math.sin(nb))/((Math.cos(nb))+(V1i/c));
g6 = f*(Math.sin(n6))/((Math.cos(n6))+(V1/c));
g7 = fx(Math.sin(bb1))/((Math.cos(bb1))+(V1/c));

h = Math.atan(g);
hl = Math.atan(gl);
h2 = Math.atan(g2);
h3 = Math.atan(g3);
h4 = Math.atan(g4);
h5 = Math.atan(gh);
h6 = Math.atan(g6) ;
h7 = Math.atan(g7);

s = (180%h)/PI;
sl = (180%h1)/PI;
s2 = (180%h2)/PI;
s3 = (180%h3)/PI;
s4 = (180%h4)/PI;
sb5 = (180%h5)/PI;
s6 = (180%h6)/PI;
s7 = (180%h7)/PI;

R1 = s87;
x2 = (2*s)*Math.cos(q); 0000 //006 0000 00O0OO
y2 = (2*s)*Math.sin(q); oooddoooooooooon

(2%s1)*Math.cos(ql);
(2%s1)*Math.sin(ql);

(2*s2)*Math.cos(g2) ;
(2*s2)*Math.sin(q2) ;

(2%s3)*Math.cos(q3);
(2%s3)*Math.sin(q3);
(2%s4)*Math.cos(q4) ;
(2*s4)*Math.sin(q4) ;
(2*s5)*Math.cos(g5) ;
(2xsb)*Math.sin(g5) ;

(2%s6)*Math.cos(qg6) ;
(2%s6)*Math.sin(qg6) ;

™
N
nn

>
0
nn
o

<
—
W
Inn

pl.setLocation(200+x2,200-y2); 00O OO OO
p2.setLocation(200+x4,200-y4) ;
p3.setLocation(200+x6,200-y6) ;
p4.setLocation(200+x8,200-y8) ;
p5.setLocation(200+x10,200-y10) ;
p6.setLocation(200+x12,200-y12) ;
p7.setLocation(200+x14,200-y14) ;
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i++
Yelse

if(i == 10){000

)

V=099.0,0000
V1 = (double) (V/1

=20 ~~

x10
y10

x12
y12

x14
yl4d

V1 * V1);

c * C);

/ d;
ath.sqrt(1-j

fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.

Math.atan(g)
Math.atan(gl
Math.atan(g2
Math.atan(g3
Math.atan(gé
Math.atan(gh
Math.atan(g6
Math.atan(g7

(180%h) /PI;

(180%*h1) /PI;
(180%h2) /PI;
(180%h3) /PI;
(180%h4) /PI;
(180%h5) /PI;
(180%h6) /PI;
(180%h7) /PI;

s7;
(2*s)*Math.c
(2%s)*Math.s

(2*s1)*Math.
(2*s1)*Math.

(2*s2)*Math.
(2%s2)*Math.

(2%s3) *Math.
(2*s3) *Math.

(2*s4)*Math.
(2*s4)*Math.

(2*sb) *Math.
(2*sb) *Math.

(2*s6) *Math.
(2*s6)*Math.

);

);
)
)
);
);
);
)

os(q);

in(q);

cos(ql);
sin(ql);
cos(qg2);
sin(q2);
cos(qg3);
sin(q3);
cos(q4);
sin(q4);
cos(g5);
sin(qg5);
cos(qg6);
sin(qg6) ;

voooooosuoonouoonboon

sin(n))/((Math.cos(n))+(V1/c));
sin(n1))/((Math.
sin(n2))/((Math.
sin(n3))/((Math.
sin(n4))/((Math.
sin(nb))/((Math.
sin(n6))/((Math.
sin(bbl))/((Math.cos(bbl))+(V1i/c));

cos(n1))+(Vi1/c));
cos(n2))+(V1/c));
cos(n3))+(V1/c));
cos(n4))+(V1/c));
cos(nb))+(Vi/c));
cos(n6))+(V1/c));

pl.setLocation(200+x2,200-y2) ;
p2.setLocation(200+x4,200-y4) ;
p3.setLocation(200+x6,200-y6) ;
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p4.setLocation(200+x8,200-y8) ;

p5.setLocation(200+x10,200-y10) ;
p6.setLocation(200+x12,200-y12) ;
p7.setLocation(200+x14,200-y14) ;

i++;
Yelse

if (4 ==11){

V = 99.9;

Vi = (double) (V/100) * c;

b= (V1 x V1);

d = (c *x ¢c);
j=b/ d;

f = Math.sqrt(1-j);

g = fx(Math.sin(n))/((Math.cos(n))+(V1i/c));
gl = fx(Math.sin(n1))/((Math.cos(n1))+(V1/c));
g2 = fx(Math.sin(n2))/((Math.cos(n2))+(V1/c));
g3 = f*(Math.sin(n3))/((Math.cos(n3))+(V1/c));
g4 = fx(Math.sin(n4))/((Math.cos(nd))+(Vi/c));
gh = f*x(Math.sin(nb))/((Math.cos(nb))+(V1i/c));
g6 = f*x(Math.sin(n6))/((Math.cos(n6))+(V1i/c));
g7 = fx(Math.sin(bbl))/((Math.cos(bb1))+(V1/c));

h = Math.atan(g);
h1 = Math.atan(gl);
h2 = Math.atan(g2);
h3 = Math.atan(g3);
h4 = Math.atan(g4);
h5 = Math.atan(gh);
h6 = Math.atan(g6);
h7 = Math.atan(g7);

s = (180%h)/PI;
s1 = (180%h1)/PI;
s2 = (180%h2)/PI;
s3 = (180%h3)/PI;
s4 = (180%h4)/PI;
s5 = (180%h5)/PI;
s6 = (180%*h6)/PI;
s7 = (180%h7)/PI;

R1 = 87;

x2 = (2*s)*Math.cos(q);

y2 = (2*s)*Math.sin(q);

x4 = (2xs1)*Math.cos(ql);
y4 = (2xs1)*Math.sin(ql);
x6 = (2xs2)*Math.cos(q2);
y6 = (2xs2)*Math.sin(q2);
x8 = (2*s3)*Math.cos(q3);
y8 = (2%s3)*Math.sin(q3);
x10 = (2xs4)*Math.cos(q4);
y10 = (2xs4)+*Math.sin(q4);
x12 = (2%sb)*Math.cos(qg5);
y12 = (2*s5)*Math.sin(q5);
x14 = (2xs6)*Math.cos(g6);
yl4 = (2xs6)*Math.sin(q6);
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x12

b

=9

12){0000b0o0oooogo//oovoooooes.ogooooooon

9.99;

= (double) (V/100) * c;
(V1 * V1);

(
b

cC *x c);
/ d;

Math.sqrt(1-j);
sin(n))/((Math.cos(n))+(V1i/c));

fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.
fx(Math.

sin(n1))/((Math.
sin(n2))/((Math.
sin(n3))/((Math.
sin(n4))/((Math.
sin(n5))/((Math.
sin(n6))/((Math.
sin(bb1))/((Math.cos(bb1l))+(V1i/c));

Math.atan(g);
Math.atan(gl);
Math.atan(g2);
Math.atan(g3);
Math.atan(g4);
Math.atan(gb) ;
Math.atan(g6) ;
Math.atan(g7);

(180*h) /PI;
(180%*h1)/PI;
(180%h2) /PI;
(180%h3) /PI;
(180%*h4) /PI;
(180%*h5) /PI;
(180%h6) /PI;
(180%*h7) /PI;

s7;

(2*s)*Math.cos(q) ;
(2*s)*Math.sin(q) ;

(2*s1)*Math.cos(ql);
(2%s1)*Math.sin(ql);

(2%s2)*Math.cos(q2) ;
(2*s2)*Math.sin(q2) ;

(2%s3)*Math.cos(q3);
(2%s3)*Math.sin(q3);

(2%s4)*Math.cos(q4) ;
(2%s4)*Math.sin(q4) ;

(2*s5)*Math.cos(g5) ;

.setLocation(200+x2,200-y2) ;
.setLocation(200+x4,200-y4) ;
.setLocation(200+x6,200-y6) ;
.setLocation(200+x8,200-y8) ;
.setLocation(200+x10,200-y10);
.setLocation(200+x12,200-y12);
.setLocation(200+x14,200-y14);

cos(n1))+(Vi/c));
cos(n2))+(Vi/c));
cos(n3))+(Vi/c));
cos(nd))+(V1/c));
cos(nb))+(V1/c));
cos(n6))+(V1/c));
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y12 = (2*sb5)*Math.sin(qg5);
x14 = (2*s6)*Math.cos(g6) ;
y14 = (2%s6)*Math.sin(q6);

pl.setLocation(200+x2,200-y2);
p2.setLocation(200+x4,200-y4) ;
p3.setLocation(200+x6,200-y6) ;
p4.setLocation(200+x8,200-y8) ;
p5.setLocation(200+x10,200-y10) ;
p6.setLocation(200+x12,200-y12) ;
p7.setLocation(200+x14,200-y14) ;

}
}

if(e.getSource() == clear){J 00000000 //clear DO OO OOOOODOO
V = 0;
i=0;

[0 R1 = 90;
R = 255;
G = 255;
B = 0;
x2 =al; y2 = bil;
x4 = a2; y4 = b2;
x6 = a3; y6 = b3;
x8 = a4; y8 = b4;
x10 = ab; y10 = Dbb;
x12 = ab; yl2 = b6;
x14 = a7; yl1l4 = b7;

pl.setlLocation(al,bl);
p2.setLocation(a2,b2);
p3.setLocation(a3,b3);
p4.setlocation(a4,b4);
p5.setLocation(ab,b5);
p6.setLocation(a6,b6) ;
p7.setLocation(a7,b7);

repaint () ;

+

public void paint(Graphics g){0O0O//0000
g.setColor(Color.white); /0000000000000
R2 = (int)R1;

g.£i110val (200-(2xR2) ,200- (2*R2) , (4*R2) , (4¥R2)) ;

g.setColor(Color.black); D OO OO

g.drawLine (200,0,200,400) ;

g.drawLine(0,200,400,200) ;
if(v=0{00000000oooo//00000oooonon
g.drawLine(al,bl,a2,b2);

g.drawLine(al,bl,a3,b3);

g.drawLine(a2,b2,a4,bd);

g.drawLine(a4,b4,a5,b5);

g.drawLine(ab,b5,a6,b6) ;

g.drawLine(a6,b6,a3,b3);

Yelseq{

g.drawLine ((int) (200+x2) , (int) (200-y2), (int) (200+x4) , (int) (200-y4)) ;
g.drawLine ((int) (200+x4), (int) (200-y4), (int) (200+x8) , (int) (200-y8)) ;
g.drawLine ((int) (200+x8), (int) (200-y8), (int) (200+x10), (int) (200-y10));
g.drawLine ((int) (200+x10), (int) (200-y10), (int) (200+x12), (int) (200-y12));
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g.drawLine ((int) (200+x12), (int) (200-y12), (int) (200+x6) , (int) (200-y6));
g.drawLine ((int) (200+x6), (int) (200-y6) , (int) (200+x2), (int) (200-y2));

.drawOval(20,20,360,360); 00 00//0 00000
.draw0Oval(80,80,240,240);
.drawOval(140,140,120,120);

.setFont (font) ;

.drawString("v ="+V+"%",10,350);
.drawString("30° ",250,220);

.drawString("60° ",310,230);

.drawString("90° ",370,240);

ifla ==0){0000000000O00ODO/0000000000D000000
g.setColor(new Color(R,G,B));
}else
if(4 >0 && i < 3){
R = R - 85;
g.setColor (new Color(R,G,B));
}else
if(i >= 3 && i < 6){
G G - 85;
B B + 85;
g.setColor (new Color(R,G,B));
}else
if(i >= 6 && i < 8){
R =R + 64;

0Q 0v 0” 09 0] 0Q 01 09

I

g.setColor (new Color(R,G,B));

}else
if(i >= 8){
R = 255;

g.setCoior(new Color(R,G,B));

}
g.fillOval(pl.x - 5 , pl.y - 5,10,10); 000 //00000C0C00O
g.fillOval(p2.x - 5 , p2.y - 5,10,10);
g.fill0val(p3.x - 5 , p3.y - 5,10,10);
g.fillOval(p4d.x - 5 , p4.y - 5,10,10);
g.fill0val(p5.x - 5 , p5.y - 5,10,10);
g.fillOval(p6.x - 5 , p6.y - 5,10,10);
g.fill0val(p7.x - 5 , p7.y - 5,10,10);
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